[xlow for bsmde plane, mod 115 ] hxlow_e xhigh for bsmde plane, mod 115 hxhigh_e
Entries 118 10 - Entries 118
C . . . . . . . Mean 63.31 "1 Mean 215.8
ol poomnne peenes freeeees proneees 11U promeeees 1o 1RMS 13.87 RMS 36.88
= : : : : : : : : ] PRPUT  E
8f—----. . ..........................................................................
C 6
6 —---- P A Ieveeaaas FAP ! 1 N SR
C . : N S AR B 1 S BN
4 " .' """"""""""""""""""""""""""""""""""""""
Iy SO SUUE SR e FA U AU SRR 1 N E 2 : : N
o |_| |_| | | |_| | |_| 1 | 0 |_| ] |_| i ] l_l |_| i
0 10 20 30 70 50 50 70 80 EY 10 () 50 100 50 200 75
xlow in ADC counts xhigh in ADC counts
[ xdiff for bsmde plane, mod 115 ] hxdiff_e nzero for bsmde plane, mod 115 | hnzero_e
Entries 118 s Entries 118
Mean 166.5 ; : ' ; ; ' : “*1Mean 36.72
RMS 27.94 10.6
4
3
2
1
1 1 i 0
140 160 180 200 50
xhigh-xlow in ADC counts # of channels with zero counts
hsigma_e [nlow for bsmde plane, mod 115 ] hnlow e
P e Entries 118 Entries 0
: : : : : : Mean 3.345 1 : Mean 0
25 RMS 0.5927 : : : : : RMS 0
: 0.8 H : e . e e
20 = : : :
06 s O S AP
15 - : : :
04— ianns P e A e
10 L : R : : : :
3 S S T St S A
0 N SN BN R SN [ P T T T R S T N
0 B8 10 12 4 0 5 0 15 20 75 30 35 7
strip RMS xlow in ADC counts if xlow<5*sigma
[slopes for bsmde plane, slopesMod_e errsMod_e
45 Entries 118 Entries 118
E Mean -0.01728 Mean 0.0739
RMS 0.008822 RMS 0.004856




smade | MO

150

17102 ¢

Mean 1027
RMS 7.444
X? I ndf 133.7/116
Constant 3.496:% 0.152
Slope -0.02736+ 0.00193

250
ZS ADC-pedOnl-pedRes

17103 e

7S ADC-pedOnl-pedRes

smde 1d=17104, mod=115, Sirip=

17104 e
T TI5075T
Mean 1011
RMS 8.861
X2 I ndf 140.2/ 145
Constant 3339+ 0.150
Slope -0.02298+ 0.00158

0 200 250

7S ADC-pedOnl-pedRes

[bsmde id=17105, mod=115, strip=5] 17105 e [bsmde id=17106, mod=115, strip=6] 17106 e [bsmde id=17107, mod=115, strip=7] 17107 e [psmde id=17108, mod=115, strip=8] 17108 e
Entries 1350454 Entries 1350454 Entries. 1350454 Entries 1350454
F Mean 9.717 Fr T T ™| Mean 9.033 T T ™| Mean 9.072 Fr T T ™| Mean 8506
RMS 8.769 . . . . | rRvs 10.11 . . | rRus 9.483 . . . . | Rvs 1019
2 [ ndf 143.9/176 4 H H o] X ndt 1265/134 H H v | rnaf 125.9/ 1! 4 H H H it 176.1/ 156
Constant 3.148+ 0.136 . . . + | Constant 3.264+ 0.159 . . .+ | Constant 2.939+ 0.142 . . . | Constant 3.166+ 0.142
Slope -0.02185 0.00139 . . . + | slope -0.02131+ 0.00161 . . + | stope -0.01889: 0.00142 . . . + | slope -0.02123+ 0.00145

smde 1 , Mo

7S ADC-pedOnl-pedRes

T7T09&
EnTres TIS075T
Mean 8.807
RMS 9.605
X2 / ndf 186.1/ 147
Constant 2796+ 0.144

-0.01785+ 0.00144.

200 250
7S ADC-pedOnl-pedRes

Entries 1350454

Mean 8.241
RMS 9631
X2 / ndf 166.4/ 152
Constant 3,012 0.15
Slope -0.01944: 0.00144

77 €
Entries 350057
Mean 8.147
RMS 1057
X2 /ndf 146.7 /152
Constant 2831+ 0.153
Slope -0.01681+ 0.00138

7S ADC-pedOnl-pedRes

smde | , MO

Strip

7S ADC-pedOnl-pedRes

T7TI0 6

. ST

350757
8.272

10.76
152.6/163
2,606+ 0.135
-0.0161+ 0.0013

smde 1d=17118, mo.

115, strip=18]

Entries 1350454
Mean 7.999
RMS 1158
X2 I ndf 211.4/143
Constant 25844+ 0.153
Slope -0.01717+ 0.00145

200 250
ZS ADC-pedOni-pedRes

mo

Strip

7S ADC-pedOnl-pedRes

...z

E

100

TS
Entres TIS075T

™ Mean 8.434
RMS 931

X2 /ndf 140/ 148
Constant 3.280+ 0.142
-0.02319+ 0.00154

150 200 250
S ADC-pedOnl-pedRes

Entries

Mean
RMS

X2 /ndf
Constant
Slope

150

7S ADC-pedOnl-pedRes

Sm

T7TIZE
EnTries TI5075T
T ™ Mean 8.141
RMS 10.89
X2 / ndf 164.9/154
Constant 2.896% 0.145
Slope -0.0181+ 0.0014

Entries
Mean 7.91
RMS 1173
X2 / ndf 172.5/165
Constant 2912 0.15
Slope -0.01714+ 0.00132

T8 e T ¢ T &
Entres 350057 Entres 75T Entries 350757
Mean 7781 Mean 7.768 Mean 7.577
RMS 11.05 RMS 1017 RMS 1134
X2 I ndf 182.6/178 X2 /ndf 175.5/160 X2 I ndf 152/130
Constant 3127+ 0.144 Constant 3.035+ 0,143 Constant 2897+ 0.151
Slope -0.01961+ 0.00131 Slope -0.01949+ 0.00139 Slope -0.0186+ 0.0016

7S ADC-pedOnl-pedRes

7S ADC-pedOnl-pedRes

7S ADC-pedOnl-pedRes




smde | Mo

17121 e smade | MO STTIp: 17122 ¢ smade | . MOl 17123 e smde 1d=17124, mod=115, Strip=. 17124 ¢
ENTTe: TISUTST e TIS075T Enu: T3S0 BT TSI
Mean 7.705 Mean 7.662 Mean 7.435 Mean 7.376

RMS 10.57 RMS 12.49 RMS 10.21 RMS 11.67
X2/ ndf 147.1/152 X2 / ndf 182.7/163 X2 /ndf 166.6/167 X2 / ndf 1416/ 170
Constant 2838+ 0.148 Constant 2764+ 0.152 Constant 2.955+ 0.142 Constant 2.935% 0.142
Slope -0.01753+ 0.00140 Slope -0.01571% 0.00129 Slope -0.01861+ 0.00133 Slope -0.0186+ 0.0013

...

50 10:} 15:} 200 250 50 10'0 150 200 250 [ 5( lDID 150 200 250 GI 5(
S ADC-pedOnl-pedRes ZS ADC-pedOnl-pedRes ZS ADC-pedOnl-pedRes S ADC-pedOnl-pedRes
[bsmde 1d=17125, mod=115, strip=25] 17125 e [bsmde 1d=17126, mod=115, strip=26] 17126 e [bsmde id=17127, mod=115, strip=27] 1727 e [bsmde 1d=17128, mod=115, strip=28] 17128 e
Entries 1350454 Entries 1350454 Entries. 1350454 Entries 1350454
T T ™| Mean 7.417 F T T ™| Mean 7.58 Fr T T ™| Mean 7.619 T T ™| Mean
. . . | Rvs 1062 . . . | rRvs 127 10 ! . . | rRus 1051 . . . | Rvs 12.45
H H o] x2 nat 158.8/ 180 H H v | X ndt 148.8/168 E. H H o] /naf 172.9/199 H H o] %2 nat 187.2/182
. . | Constant 2,627+ 0.138 . . + | Constant 308+ 0.15 E. . . .+ | Constant 284+ 0.14 . . | Constant 2792+ 0.143
: : + [Lstope -0.01568 0.00120 : : + |Stope -0.01884: 0.00135 w0 [t : : + |Lstope -0.01721: 0.00117 : : + [Lstope -0.01616+ 0.00120

25 ADC-pedoOnl-pedRes 7S ADC-pedonl-pedRes 25 ADC-pedOnl-pedRes 7S ADC-pedOnl-pedRes
smde | , MO 17129 e smde | Mo Strip 73T e bsmde 1d=17132, mod=115, Stp=32 17137 e
ERTres TIS075T EnTrTes. TIS0T5T EnTres TIS0757
F Mean 7.549 E Mean 7411 n Mean 7.423

RMS 10.63 RMS 10.67 RMS 10.98
X2 / ndf 158.9/ 165 X2 /ndf 170.1/183 X2 / ndf 152.3/ 146
Constant 2,911+ 0.151 Constant 2.832+ 0.140 Constant 3.047+ 0.151

-0.01679+ 0.00129 -0.017 0.001 -0.01938+ 0.00147

1
200 250 100 150 200 250
S ADC-pedOnl-pedRes 7S ADC-pedOnl-pedRes

150 200 250
7S ADC-pedOnl-pedRes

1713 L Stp: St Sm 1713
Entries 1350454 Entries 1350454 Entries Entries 1350454
Mean 6.741 F Mean 7.581 Mean F Mean 49
RMS 9.989 RMS 1159 RMS RMS 1155
X2 / ndf 162.2/192 X2 / ndf 1425/ 206 X2 Indf X2 / ndf 1431/ 165
Constant 2.96% 0.13 Constant 2,922+ 0.140 Constant Constant 2.964% 0.148
Slope -0.01875+ 0.00123 -0.0175¢ 0.0012 Slope Slope -0.01799+ 0.00133

0 50 100 150

200 250 200 250
ZS ADC-pedOnl-pedRes ZS ADC-pedOnl-pedRes

T737 e smde 1d=17138, mod=115, strip=38 17138 e 17139 e [psmde id=17140, mo 17140 e
Ttres TI50757 Entries 350757 TEntries, TI50957 Ttres 350757
™ Mean 6.875 F T ™ Mean 7.416 ™ Mean 6772 F Mean 7.252
RMS 1121 RMS RMS 1067 RMS 1252
X? I ndf 17877197 X? I ndf 169.6/194 X2 /ndf 1731169 X? / ndf 177.3/184
Constant 2.628:+ 0.142 Constant 3017+ 0.147 Constant 2773+ 0145 Constant 2.744:% 0,147
Slope -0.01459% 0.00111 Slope -0.0181+ 0.0012 Slope -0.0164% 0.0013 Slope -0.01558+ 0.00119

7S ADC-pedOnl-pedRes 7S ADC-pedOnl-pedRes 7S ADC-pedOnl-pedRes 7S ADC-pedOnl-pedRes



7141 e Smae 1 Mo STp 17142 ¢ Smde 1 . Mo ST 17143 ¢ Smade 1d=17144, mod=115, Strp=: 17144 e
EmTTTe: TI5075T e TIS07ST EnTTE TIS0TST T TI5075T
Mean 6.752 Mean 7.267 Mean 6546 n Mean 7.105

smde | Mo

RMS 11.99 RMS 12.94 RMS 10,02 RMS 1222
X2 /ndf 203.9/211 X2 /ndf 174.8/164 197.7/203 164.6 /156
Constant 2.785% 0.135 Constant 2773+ 0.150 Constant 2883+ 0.137 3.032+ 0.155

Slope -0.01832:+ 0.00139

-0.0163+ 0.0011 Slope -0.01566+ 0.00127 Slope -0.01734 0.00116

[
|5 S

0 50 10:} 150 250 0 50 10'0 150 200 250 [ 5( lDID 150 200 250 0 50 10 150 200 250
S ADC-pedOnl-pedRes ZS ADC-pedOnl-pedRes ZS ADC-pedOnl-pedRes S ADC-pedOnl-pedRes
[bsmde 1d=17145, mod=115, strip=45] 17145 e [bsmde id=17146, mod=115, strip=46] 17146 e [bsmde id=17147, mod=115, strip=47] 17147 e [bsmde 1d=17148, mod=115, strip=48] 17148 e
Entries 1350454 Entries 1350454 Entries. 1350454 Entries 1350454
T T ™| Mean 711 T T ™| Mean 7.125 T T ™| Mean 6.74 Fr T T ™| Mean
. . . | Rvs 13.46 . . . | rRvs 12.38 . . | rRus 11.38 . . . . | Rvs
H H o] x2 nat 162.1/195 H H o] X ndt 172.7/158 H H o] /naf 143.2/179 4 H H H 138.7/165
. . | Constant 2,668+ 0.144 . . + | Constant 3154+ 0.159 . . .+ | Constant 3.125+ 0.147 . . . | Constant 3136+ 0.151
10° : : + |slope -0.01488+ 0.00113 : : + | Slope -0.01906+ 0.00141 : : + | Slope -0.0191+ 0.0013 ' : : + | stope -0.01967+ 0.00139

25 ADC-pedoOnl-pedRes 7S ADC-pedonl-pedRes 25 ADC-pedOnl-pedRes 7S ADC-pedOnl-pedRes
mde 1 m 17149 e mde | m T 17150 ¢ mde T m 1l I7I5T & [bsmde 1d=17152, mod=11 TIp=52. 17157 €

smee 0 ERTres TIS075T smee 10 ST EnTres TI50757 smee o St EnTrTes. TI50T5T smde d 52 Mod=115, St EnTres TIS075T
T T ™| Mean 6.497 Mean 7.46 Mean 8905 F T ™| Mean 8.593
RMS 1046 RMS 13.2 969 RMS 1046
2 141.1/188 X? I ndf 197.2/219 180/170 X? / ndf 135.7/140
2.716:+ 0.139 Constant 2529 0.133 2723+ 0142 Constant 2.995:+ 0.154
-0.01613+ 0.00118 -0.01421 0.00102 -0.01629+ 0.00126 Slope -0.01883+ 0.00151

|
0

1
50 10 250 0 5 00 150 200 250 00 50 200 750
25 ADC-pedOnl-pedRes 7S ADC-pedonl-pedRes 25 ADC-pedOnl-pedRes
1715 L SUIp: Ssmde 1d=. T MOod=115, smp:Sﬂ Sm 1715

Entries 1350450 Entries 350454 Entries 1350454 Entries 1350450
- Mean 8535 F Mean 8569 Mean 8.141 Mean 8.255

RMS 9.765 RMS 12.05 RMS 1019 RMS 1156

X? I ndf 176/ 155 X? I ndf 203.4/163 X2 /ndf 143/183 X? /ndf 186.7/182

Constant 2791 0.150 Constant 2736 0.149 Constant 2756+ 0142 Constant 2914 0.143

Slope -0.01687+ 0.00137 Slope -0.01552+ 0.00127 Slope -0.01609+ 0.00120 Slope -0.01783+ 0.00126

250 200 250
ZS ADC-pedOni-pedRes ZS ADC-pedOnl-pedRes

200 250
ZS ADC-pedOnl-pedRes

15, strip=57 T757 e smde id=17158, mod=115, strip=58 17158 e [psmde id=17160, mod=115, strip=60 17160 ¢
Ttres TI50757 Entries 350757 Ttres 350957
o T T ™ Mean 7.316 T ™ Mean 8.023 F T ™ Mean 8.045
RMS 7.968 RMS 121 RMS 1271
X? I ndf 12256/126 X? I ndf 152.9/171 X2 /ndf 182/176 X? / ndf 187.47186
Constant 3146+ 0.135 Constant 2899+ 0.141 Constant 3175+ 0146 Constant 2719+ 0.146
Slope -0.02419+ 0.00173 Slope -0.01811+ 0.00130 Slope -0.01958+ 0.00131 Slope -0.01554+ 0.00118

7S ADC-pedOnl-pedRes 7S ADC-pedOnl-pedRes 7S ADC-pedOnl-pedRes 7S ADC-pedOnl-pedRes




smde | Mo

17161 e

EmTTTe: TI50757T

Mean 8.088

RMS 1037

X2 I ndf 152.6/175

Constant 2843+ 0.151
-0.01637+ 0.00125

7S ADC-pedOnl-pedRes

Mo

7162 ¢
Mean 8.585
RMS 114
X /ndf 183.31194
Constant 2812+ 0140
Slope -0.01645: 0.00116

ZS ADC-pedOnl-pedRes

1
0 100 150

17163 e

Mean 8.183
RMS 10.74

17381177
Constant 2.837+ 0.147
Slope -0.01656+ 0.00124

250
7S ADC-pedOnl-pedRes

smde 1d=17164, mod=115, Strip=ti

100

17164 e

T TI5075T
Mean 3423
RMS 5631

94.6/41
426+ 0.14
-0.0701 0.0050

75
7S ADC-pedOnl-pedRes

[bsmde 1d=17165, mod=115, strip=65] T7165 ¢ [bsmde 1d=17166, mod=115, strip=66] 7166 & [bsmde id=17167, mod=115, strip=67] 7167 ¢ [bsmde 1d=17168, mod=115, strip=68] T7168 e
Entries 1350454 Entries 1350454 Entries 1350454 Entries 1350454
T T ™ mean 8.011 T T ™ vean 8167 T T ™ mean 7532 T T ™ Mean 7.888
. . t | rus 1108 104 . . T |rus 125 . . . | rus 1041 . . S 1241
: : o | x2 rnat 190.6/177 : : + | X 7ot 1951/176 : : + |k nar 162.9/ 22 : : : ndf 205.2/158
' ' + | Constant 2.861¢ 0.150 ' ' + | Constant 282+ 016 ' ' + | Constant 2,665 0.139 ' ' ¢ | Constant 2.89% 0.16
: : ¢ | siope  -0.016282 000123 ” : : ¢ | siope 0015052 0.00120 : : ¢ | Slope  -0.01471+ 0.00103 : : ¢ | siope 0016452 0.00133

smde 1 , Mo

7S ADC-pedOnl-pedRes

T7T60 6
EnTres TIS075T
Mean 7671
RMS 11.03
X2 / ndf 163.1/196
Constant 2777+ 0.145

-0.01558+ 0.00114.

o
g

200 250
7S ADC-pedOnl-pedRes

15, stri

77|

1717
Entries 1350454
Mean 7.365
RMS 10.92
X2 / ndf 186/ 214
Constant 2.884:% 0.140
Slope -0.01644:+ 0.00109

4 .....

T7I77 6
Entries TIS075T
Mean 7.932
RMS 11.91
X2 I ndf 176.3/212
Constant 2739 0.159
Slope -0.01307+ 0.00101

Fl“l\” ” JINITY

7S ADC-pedOnl-pedRes

Mo

Strip

7S ADC-pedOnl-pedRes

S

TS
EnTres TI50757
Mean 7.764
RMS 12.24
X? I ndf 19537174
Constant 3.07+0.16

Slope -0.01718+ 0.00126

Y

smde |

17178, mo

115, strip=78]

Entries 1350454
Mean 7.634
RMS 12.37
X2 / ndf 184.6/228
Constant 2,698+ 0.137

Slope -0.01495+ 0.00102

smde 1 Mo Strip

7S ADC-pedOnl-pedRes

T7I7TT S
Entres TIS075T
Mean 7.435
RMS 10.31
X2 /ndf 172.4/213
Constant 2.893+ 0.141

-0.0166 0.0011

Entries. 1350454
Mean 7.502

RMS 11.27
X2 /ndf 200.8 / 200
Constant 2.794% 0.151
Slope -0.01495+ 0.00111

200 250
7S ADC-pedOnl-pedRes

7S ADC-pedOnl-pedRes

[bsmde 1d=17172, mod=11 TIp=72 1777 e

smde d , MOd=115, Stp EnTres TIS075T
Mean 7.827
RMS 1231
X? / ndf 195.6/214
Constant 2.848:+ 0.145

Sm

-0.01564:+ 0.00108

7S ADC-pedOnl-pedRes

1717
Entries 1350454
Mean 3.005
RMS 4.202
X2 / ndf 68.1/29
Constant 447+ 013
Slope -0.0896+ 0.0066

T7T T7I70 6 T7T80_6
Entries T350757 Entries TIS075T Entries TIS075T
Mean 8522 ™ Mean 7.501 r T ™ Mean 8.309
RMS 1371 RMS 12.38 104 RMS
X2 / ndf 188.4/245 X2 Indf 192.81227 X2 / ndf 148.5/ 202
Constant 2.428+ 0.147 Constant 2.487+ 0.150 Constant 2.704% 0.160
Slope -0.01145+ 0.00089 Slope -0.01192+ 0.00094 Slope -0.01313+ 0.00106

7S ADC-pedOnl-pedRes

7S ADC-pedOnl-pedRes

7S ADC-pedOnl-pedRes



smde | , MO 17181 e smde I , MO strip: 17182 e smde I , MO stri 17183 e smde 1d=17184, mod=115, Strip=t 17184 e
e TIS0TST Bl —— BEU — 20 TIS0TST
Mean 7.215 Mean 8.09 Mean 7.758 Mean 8.121
N N | rus 1191 RMS 12,68 N . | rus 13.28 N | rus 1341
X2 /ndf 194.8/194 X2 /ndf 164 /237 x? /ndf 202.3/262 X2 /ndf 180.6 /232
Constant 2562+ 0.158 Constant 2,659+ 0.152 Constant 2645+ 0.141 Constant 2.746+ 0.153
Slope -0.01254+ 0.00108 Slope -0.01289+ 0.00095 Slope -0.01332+ 0.00090 Slope -0.01315+ 0.00095

1 N
1 1 L 1 1 1
50 100 150 200 250 250 50 100 150 200 250 50 100 150 200 250
ZS ADC-pedOnl-pedRes S ADC-pedOnl-pedRes 7S ADC-pedOnl-pedRes ZS ADC-pedOnl-pedRes
[bsmde 1d=17185, mod=115, strip=85] T7185 ¢ [bsmde 1d=17186, mod=115, strip=86) 7186 ¢ [bsmde 1d=17187, mod=115, strip=87] 7187 ¢ [bsmde 1d=17188, mod=115, strip=88] 17188 ¢

Entries 1350454 Entries 1350454 Entries 1350454 Entries 1350454
T T ™ mean 7.961 F T T ™ vean 7.865 T T ™ mean 7.61 F T T ™ Mean 7.803
. . t | rus 1401 100 [t . . T |rus 1298 . . . | rus 13.23 . . S 12.88
: : o @ nar 228.3/225 E: : : + | X 7ot 2115255 : : + |k nar 20011252 : : : i 166.8/ 244
' ' + | Constant 2762 0.15 ' ' ' + | Constant 2.414% 0.147 ' ' + | Constant 2.622% 0.143 ' ' ¢ | Constant 2618+ 0.152
. . + [ siope -0.01363: 0.00008 JF: . . + | stope_ -0.011142 0.00085 . . + | stope-0.01302: 0.00081 . . + [ siope -0.01227 0.00001

25 ADC-pedoOnl-pedRes 7S ADC-pedonl-pedRes 25 ADC-pedOnl-pedRes 7S ADC-pedOnl-pedRes

smde | , MO 17189 ¢ smde | , MO Strip 17190 ¢ smde | Mo Strip 70T & bsmde 1d=17102, mod=115, Stp=02 17197 ¢
ERTres TIS075T EnTres TI50757 EnTrTes. TI50T5T EnTres TIS075T
Mean 6.817 Mean 7.464 Mean 7.992 Mean 7.927

RMS 1197 RMS 11.99 RMS 1411 RMS 12.19
X2 /ndf 161.9/217 X2 /ndf 206.7 /231 x? /ndf 175.8 1206 X2 /ndf 211.2/203
Constant 29+02 Constant 2711+ 0.147 Constant 2552+ 0.150 Constant 2.805% 0.152

-0.01444:+ 0.00103 Slope -0.01381+ 0.00098 -0.01271% 0.00102 -0.01456:+ 0.00108

Lo I

1
100 150 200 250
S ADC-pedOnl-pedRes 7S ADC-pedOnl-pedRes

150 200 250
7S ADC-pedOnl-pedRes

o
gl

719 L ST Sm Mo 719
Entries 1350454 1350454 Entries Entries 1350454
Mean 7.516 Mean 7621 Mean Mean 7.232
RMS 12.94 RMS 1131 RMS RMS 1171
X2 /ndf 160.3/199 X2 I ndf 160.6/179 X2 /ndf X2 I ndf 2017169
Constant 277£ 015 Constant 3073+ 0.163 Constant Constant 2864+ 0.168
Slope -0.01481+ 0.00110 Slope -0.01683+ 0.00125 Slope Slope -0.01471+ 000124

200 250 200 250
ZS ADC-pedOni-pedRes ZS ADC-pedOnl-pedRes

15, strip=97 T7157 e smde 1d=17198, mod=115, strip=98 17198 e 17200 e
Ttres TI50757 Entries 350757 Ttres TI50757
F Mean 7274 Mean 712
RMS 1117
X? / ndf 15731202
Constant 3.078+ 0.158 Constant 2.886:% 0.150 Constant 2,891+ 0.158 Constant 2,723+ 0.148
Slope -0.01739+ 0.00126 Slope -0.0157+ 0.0011 Slope -0.0152+ 0.0012 Slope -0.01423+ 0.00107

7S ADC-pedOnl-pedRes 7S ADC-pedOnl-pedRes 7S ADC-pedOnl-pedRes 7S ADC-pedOnl-pedRes



smde | , MO 17201 e smde I , MO strip: 17202_e smde I , MO 17203 e smde 1d=17204, mod=115, Strip= 17204 e
Bl — 20 TSS0TST
Mean 6.913 r Mean 7.323 Mean 5.906 Mean 6.911
[ N N RMS 1197 N . | rus 108 N . | rus 9.407 RMS 1104
X2 /ndf 181.9/215 X2 /ndf 155.8/192 x? /ndf 188.9/201 X2 /ndf 176.9/190
Constant 2.897+ 0.148 Constant 2893+ 0.147 Constant 2916+ 0.149 Constant 2.819+ 0.150
Slope -0.0154+ 0.0011 Slope -0.01611+ 0.00115 Slope -0.01604+ 0.00113 Slope -0.01548+ 0.00116

0 50 10:} 150 250 0 50 10 15'0 200 250 [ 0 50 10:} 150 200 250
S ADC-pedOnl-pedRes ZS ADC-pedOnl-pedRes ZS ADC-pedOnl-pedRes S ADC-pedOnl-pedRes
[bsmde id=17205, mod=115, strip=105] 17205 ¢ [bsmde id=17206, mod=115, strip=106] 17206 e [bsmde id=17207, mod=115, strip=107 ] 17207 e [bsmde id=17208, mod=115, strip=108 ] 17208 e

Entries 1350454 Entries 1350454 Entries. 1350454 Entries 1350454
Fr T T ™| Mean 5511 Er T T ™| Mean T T ™| Mean 5511 T T ™| Mean 6.14
F . . . | rRus 9565 F. . . . | rRvs 8.456 . . | rRus 9182 . . . | Rvs 9218
H H o] x2 nat 1455/ 175 . H H o] X ndt 165.3/ 159 H H v | rnaf 184.4/228 H H H it 233 /184
. . | Constant 2.772+ 0.155 N . . + | Constant 3.248+ 0.144 . . .+ | Constant 2517+ 0.140 . . | Constant 2.745+ 0.155
: : + |slope -0.01499+ 0.00121 1 : : + | Slope -0.02164+ 0.00145 : : + | Slope -0.01319+ 0.00098 : : + | stope -0.01431+ 0.00115

7S ADC-pedOnl-pedRes ZS ADC-pedOnl-pedRes 7S ADC-pedOnl-pedRes
smde 1 Mo 7205 € smde | , MO STUip: T7710 e [bsmde 1d=1721T, mod=115, strip=11] T7e 1777 e

ERTTeS TIS075T EnTeS TIS0TST EnTTeS TIS07ST ERTeS TIS075T

Mean 5.531 T T lean 6.051 E Mean 5.531 Mean 5.762

RMS 9.134 RMS 9.267 RMS 9.362 RMS 8.936

X2 /ndf 180.8/204 X2 /ndf 130.5/204 104 x? /ndf 162.6 /208 X2 /ndf 1859/253

Constant 2,983 0.150 Constant 2,695+ 0.155 Constant 2644+ 0.152 Constant 2762+ 0.144
-0.01614+ 0.00112 Slope -0.01354+ 0.00106 -0.0131+ 0.0010 -0.01401+ 0.00094

gL ...

1F
o 50 100 150 200 250 ) 5( 100 150 200 250 250
7S ADC-pedOnl-pedRes S ADC-pedOnl-pedRes 7S ADC-pedOnl-pedRes
S mo , SUr1 sm
Entries 1350454 Entries 1350454 Entries. Entries
Mean 6.004 Mean 6.153 Mean . Mean
RMS 10.49 RMS 9.989 RMS E. RMS
X2 /ndf 182.9/261 104 X2 /ndf 230.6/293 X2 /ndf X2 /ndf
Constant 2.656+ 0.148 Constant 2632+ 0.137 Constant Constant
Slope -0.0125+ 0.0009 Slope -0.01264: 0.00081 Slope Slope

0 50 ok = 200 250 0 50 ‘b 150 200 25 200 250
2S ADC-pedOnl-pedRes 7S ADC-pedOnl-pedRes 25 ADC-pedOnl-pedRes
15, strip=117] 17217 e smde 1d=17218, mod=115, strip=118| 17218 e T7210 e T7220_¢
Ttres TI50757 Entries 350757 TEntries, TI50757 Ttres 350757
E T T ™ Mean 6.268 Mean 6.621 Mean 6257 Mean 6.351
F RMS 1135 RMS 11.06 RMS 1084 RMS 1123
X? I ndf 187.4/266 X? I ndf 191.7/323 X2 /ndf 218.2/309 X? / ndf 202.2/278
Constant 2,518+ 0.155 Constant 2308 0,139 Constant 2427+ 0153 Constant 2,347+ 0.159
Slope -0.01085+ 0.00082 Slope -0.01007+ 0.00071 Slope  -0.009964:+ 0.000730 Slope  -0.009594+ 0.000775

o
7S ADC-pedOnl-pedRes 7S ADC-pedOnl-pedRes 7S ADC-pedOnl-pedRes 7S ADC-pedOnl-pedRes
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[xlow for bsmdp plane, mod 115 ] hxlow_p xhigh for bsmdp plane, mod 115 hxhigh_p
. Entries 150 Entries 150
Mean 25.61 Mean 132.9
20 RMS 3.723 RMS 19.32
3 e e e L L e o B o R LR R
0 |
0 50 10 75
xlow in ADC counts xhigh in ADC counts
hxdiff_p hnzero_p
Entries 150 Entries 150
Mean 107.2 Mean 20.91
16.7 RMS 9.044
1 i 1
0 20 20 60 80 160 180 200 0 5 10 15 20 25 30 35 20 25 50
xhigh-xlow in ADC counts # of channels with zero counts
[rms for bsmdp plane, mod 115 | hsigma_p [nlow for bsmdp plane, mod 115 ] hnlow_p
— Entries 150 Entries 2
Mean 2.824 1 Mean 23
RMS 0.5934 RMS 2
: 0.8 : e e
06 | SN S P T R A
Y| S e NP 1 I U N S S
02 e
L ol v v v v . A B T
4 0 5 0 15 20 75 30 35 7

. mod 115 ]

strip RMS

slopesMod_|

p

Entries

RM

150

Mean -0.03279
0.004501

xlow in ADC counts if xlow<5*sigma

errsMod_p

Entries 150
Mean 0.06705
RMS 0.004417




SMap 1 Mo

17101 p
Mean 601
RMS 7.157
X2 I ndf 165.2/89
Constant 3564+ 0.120
Slope -0.03996+ 0.00256

25
7S ADC-pedOnl-pedRes

bsmdp 1d=17102, mod=115, Strp=2]

17102 p
Mean 5592
RMS 6.846
X2 I ndf 114.4/98
Constant 346+ 012
Slope -0.0345¢ 0.0023

250
ZS ADC-pedOnl-pedRes

100

17103 p

Mean 5743
RMS 7203
X? /ndf 125.7/85
Constant 3.631+ 0.120
Slope -0.0404% 0.0026

25(
S ADC-pedOnl-pedRes

[GSmdp 10=17104, M0d=115, Strp=4.

100

17104 p
T TI5075T
Mean 5.389
RMS 7.464
X2 I ndf 151.3/96
Constant 324% 0.13
Slope -0.02998+ 0.00220

250
7S ADC-pedOnl-pedRes

7S ADC-pedOnl-pedRes

150

T7T09 5
EnTres TI5075T
Mean 574
RMS 9337
X2 / ndf 116.7/114
Constant 3577 0.129
Slope -0.03422+ 0.00212

200 25(
7S ADC-pedOnl-pedRes

150

17113

— N E—
Entries 1350454

Mean
RMS

X? I ndf
Constant +
Slope -0.03347+ 0.00236

200 250
ZS ADC-pedOnl-pedRes

775
Entries 350057
Mean 6113
RMS 1033
X2 /ndf 167.4/100
Constant 3259+ 0.125
Slope -0.03147+ 0.00221

7S ADC-pedOnl-pedRes

Smap 1 . Mo

Strip

7S ADC-pedOnl-pedRes

T7TI0

150

Entries TI50757
tean 4.96
RMS 7.864
146.7/96

3.453+ 0.131

-0.03385+ 0.00233

200 250
7S ADC-pedOnl-pedRes

150

Entries 1350454
Mean 597
RMS 7734
X2 I ndf 145.7/105
Constant 34:0.1
Slope -0.03291+ 0.00214

200 250
ZS ADC-pedOni-pedRes

7S ADC-pedOnl-pedRes

Mo

T
Entres TIS0757
Mean 6516
RMS 7.357
X2 /ndf 1155/104

315+ 0.12

-0.03137: 0.00216

250

Entries 1350454
Mean 6.062
RMS 8.87;

X2 Indf 1106/112
Constant 3.257+0.119
Slope -0.03112+ 0.00203

200 75
7S ADC-pedOnl-pedRes

785 705
Entries 1350457 Entries’ 1350457
Mean 5.783 M Mean 6.158
RMS 9559 RMS 11.41
X2 / ndf 140.1/125 X2 /ndf 142.2/118
Constant 3.288+ 0.123 Constant 3378+ 0.123
Slope -0.02846+ 0.00182 Slope -0.03193+ 0.00201

7S ADC-pedOnl-pedRes

7S ADC-pedOnl-pedRes

5 17105 p [psmdp id=17106, mod=115, strip=6] 17106_p mdp id=17107, mod=115, strip=7] 17107 p bsmdp id=17108, mod=115, strip: 17108 p
Entries 1350454 Entries 1350454 Entries. 1350454 Entries 1350454
Mean 5.706 M Mean 5.602 M Mean 5.729 M Mean 5.439
RMS 9.022 . RMS 9,005 . RMS 10.22 . RMS 9.471
X2 /ndf 120.6/116 : X2 /ne 133.8/125 : x? /ndf 137.9/136 : I 196.1/121
Constant 3412+ 0121 . Constant 3.338+ 0.122 . Constant 3.04% 0.12 . Constant 3.257+ 0.129
Slope -0.03381% 0.00209 . Slope -0.02985: 0.00187 . Slope -0.02542: 0.00169 . Slope -0.02726% 0.00184

7S ADC-pedOnl-pedRes

Mod=115, strip=17] TR
od 5' st p Entries 1350454
Mean 6.047
RMS 5.991
X2 Indf 69.83/90
Constant 353k 0.124
Slope -0.03758+ 0.00248

25

Entries 1350454
Mean 5.625
RMS 8344
X2 / ndf 137/104
Constant 3.3+ 0.1

Slope -0.03061:+ 0.00210

200 250
ZS ADC-pedOnl-pedRes

T3
Entries 350757
Mean 5325
RMS 9.979
X2 I ndf 108.4/95

Constant 3586+ 0.117
Slope -0.0403+ 0.0025

7S ADC-pedOnl-pedRes




map ™ 17121 Hsmadp 10=17122, mod=11 Tp=22 17122, map 1 m 1712 BSsmap 1d=17124, Mod=115, Stnp=24 17124,
S ] . MO BT = 1350452 S P . mod > ST I Ene: = 1350457 S B o e 20 1350457 S P . mod >, Stp BT = 1350452
Mean 6.864 Mean 6.965 Mean 6.983 Mean 6.62
RMS 8.896 N . | rus 6.767 N . | rus 9587 RMS 7.75
X2 /ndf 1132/123 X2 /ndf 131.7/106 x? /ndf 167.6/97 X2 /ndf 1743/121
Constant 3.267+0.114 Constant 3.345% 0.122 Constant 3.38+ 0.12 Constant 3.16% 0.12
Slope -0.03318+ 0.00202 Slope -0.03194+ 0.00211 Slope -0.03414+ 0.00230 Slope -0.0288+ 0.0019

-
0 50 100 150 200 250 50 100 150 200 250 [ 50 100 150 200 25( 0 50 100 150 200 250
7S ADC-pedOnl-pedRes 7S ADC-pedOnl-pedRes S ADC-pedOnl-pedRes 7S ADC-pedOnl-pedRes

25 17125 p [bsmdp id=17127, mod=115, strip=27 ] 17127 p 17128 p
Entries 1350454 Entries. 1350454 Entries 1350454
T T ™| Mean T T ™| Mean 6.231 F T Mean 6.319
. . . | Rvs 1053 . . | rRus 102 . RMS 10.26
H H o] x2 nat 125.2/ 106 H H o] /naf 90.53/110 H 99.37/118
. . | Constant 3457+ 0.122 . . .+ | Constant 331%0.13 . Constant 3.395+ 0.129
. . . Slope -0.03501+ 0.00221 . . . Slope -0.02968+ 0.00203 . Slope -0.03001+ 0.00195

7S ADC-pedOnl-pedRes 25 ADC-pedOnl-pedRes
mo 17129 p , MO Strip 17130 p smdp | Mo 73T p
ERTres TIS075T EnTres TI50757 EnTrTes. 350757
Mean 5532 Mean 6.494

1027

101.2/94
3.323+0.116
-0.03556+ 0.00237

Constant 3.466% 0.127
-0.03456:+ 0.00237

200 250
7S ADC-pedOnl-pedRes

g ...

200 250
7S ADC-pedOnl-pedRes

gl
gL .=

200 250
S ADC-pedOnl-pedRes

200 250
7S ADC-pedOnl-pedRes

17133 p
Entries 1350454
Mean 6.259
RMS 7.231
X2 /ndf 1436/ 96
Constant 3315+ 0.121
Slope -0.0333¢ 0.0023

Entries
Mean
RMS

X? I ndf
Constant
Slope

Entries 1350454
Mean 6.094
RMS 9559
X2 Indf 146.8/133
Constant 3.064+ 0.115
Slope -0.0287+ 0.0018

1713
Entries 1350454
Mean 6.289
RMS 8.068
X2 / ndf 118.7/119
Constant 31931 0.125
Slope -0.02852:+ 0.00192

200 750
ZS ADC-pedOnl-pedRes

200 25
ZS ADC-pedOni-pedRes

200 25
7S ADC-pedOnl-pedRes

200 250
ZS ADC-pedOnl-pedRes

7375
Entries 350057
Mean 632
RMS 1082
X2 /ndf 168.9/128

Constant
Slope

3.268+ 0.125
lop -0.02889+ 0.00185

T8 75
Entres 350057 Entres 350057
Mean 5942 ™ Mean 6.691
RMS 9.506 RMS 11.86
X2 I ndf 181.6/120 X2 /ndf 1736/127

Constant 3.124+ 0.123
Slope -0.02626+ 0.00181

Constant
Slope

3.111+ 0.125
lop -0.02645+ 0.00179

7305
Entries 350757
Mean 5.42
RMS 9.761
X2 I ndf 112.7/89

Constant 3.328+ 0.122
Slope -0.03408+ 0.00241

7S ADC-pedOnl-pedRes

7S ADC-pedOnl-pedRes

7S ADC-pedOnl-pedRes

7S ADC-pedOnl-pedRes



mi 17141 m I m ] 17142, m I m 1714 m 1d=17144 m =1T TIp=24% 17144
. MO BT = 1350452 S p Mo Sp Ene: = 1350457 S B o e 2D 1350457 S P . mod >, Stp BT = 1350452
Mean 6.919 Mean 7.347 Mean 6.806 Mean 6.908
N N RMS 7.879 N . | rus 4.829 N RMS 8652 RMS 5.893
X2 /ndf 149.7/91 X2 /ndf 175.3/105 x? /ndf 166.4 /86 X2 /ndf 112.4/109
Constant 3.272+ 0.126 Constant 3.52+0.13 Constant 3.354% 0.127 Constant 3.347+ 0.127
Slope -0.03175+ 0.00232 Slope -0.03457+ 0.00219 Slope -0.03408+ 0.00248 Slope -0.03138+ 0.00209

1
25 200 250 750 0 50 100 150 200 25

7S ADC-pedOnl-pedRes 7S ADC-pedOnl-pedRes S ADC-pedOnl-pedRes 7S ADC-pedOnl-pedRes
45 17145 p [bsmdp id=17146, mod=115, strip=46] 17146 p mdp id=17147, mod=115, strip=47] 17147.p 17148 p
Entries 1350454 Entries 1350454 Entries. 1350454 Entries 1350454
T T ™| Mean 6.844 T T ™| Mean 6.729 Mean 6.502 T T ™| Mean 6.205
. . . | Rvs 1042 . . . | rRvs 6.204 RMS 1055 . . . | Rvs 9.561
H H o] x2 nat 1135/89 H H o] X ndt 154.3/ 100 2 /ndf 192136 H H H ndf 107.8/147
. . | Constant 3.393+ 0.131 . . + | Constant 3.284+ 0.135 Constant 3.227+0.119 . . | Constant 3.02% 0.12
. . + | slope -0.03386 0.00244 . . + | slope -0.02929: 0.00216 Slope -0.02831+ 0.00176 . . + | slope -0.02438 0.00161

ZS ADC-pedOnl-pedRes ZS ADC-pedOnl-pedRes ZS ADC-pedOnl-pedRes ZS ADC-pedOnl-pedRes
mdp T ™ T ™ ] TTTS0p mdp 1 ™ TS5 [FSmdp 1d=17152, mod=115, strip=52] T2

S ] 0 Entries. 1350454 UG st p Entries 1350457 S p o Entries. 1350457 S ] d > od 5. st p Entries 1350454
T T T Mean 6.835 Mean 5.515 ] Mean 4797 Mean 5.951

RMS 125 RMS 9.556 RMS 5.603 RMS 4779

X2 /ndf 139.4/129 X? I ndf 92.71/106 X2 /ndf 145.6/91 104 X2 /ndf 122.7/112

Constant 3.038+ 0.128 Constant 3.403+ 0.118 Constant 3429+ 0.119 Constant 3.384+ 0.122

Slope -0.02403+ 0.00170 -0.03524+ 0.00221 -0.03683+ 0.00244 -0.03312+ 0.00210

[/ E—

1
0 50 00 150 200 750 200 250 0 E 100 150 200 750 0 50 100 150 200 250
25 ADC-pedOnl-pedRes 7S ADC-pedonl-pedRes 25 ADC-pedOnl-pedRes 25 ADC-pedOnl-pedRes
17153 p smdp 1d=, T mMOoad=115, smp:Sﬂ Sm 1715
Entries 1350450 Entries Entries 1350450 Entries 1350450
Mean 5126 Mean Mean 5.2 Mean 5.628
RMS 7.495 RMS RMS 10.09 RMS 6.215
X? I ndf 125.3/100 X? I ndf X2 /ndf 103.3/113 X? I ndf 154.1/106
Constant 3.599:+ 0.117 Constant Constant 3353+ 0,119 Constant 3.612:+ 0.132
Slope -0.03953+ 0.00238 Slope Slope -0.03308+ 0.00208 Slope -0.03465+ 0.00220

g ...

50 100 150 200 75 0 50 100 150 200 750 £ 100 150 200 50 50 100 150 200 250
25 ADC-pedOnl-pedRes S ADC-pedOnl-pedRes 7S ADC-pedOnl-pedRes 25 ADC-pedOnl-pedRes
17157 p 17158 p bsmdp 1d=17159, mod=115, strip=59 17159 p [bsmdp 1d=17160, M0d=115, Strp=60 17160 p
Ttres TI50757 Entries 350757 L TEntries, 350757 Ttres 350757
Mean 5.394 F Mean 5274 Mean 5216 Mean 4582

11.26 823 RMS 101 7.813
121/116 134.1/143 X2 Indf 13451126 107.7/100
Constant 3.158+ 0.129 Constant Constant 3.362+ 0.116
Slope -0.02564+ 0.00167 Slope Slope -0.03588+ 0.00231

Constant 2.96+ 0.13 3.108+ 0.126
Slope -0.02373+ 0.00183 -0.02582+ 0.00177

7S ADC-pedOnl-pedRes 7S ADC-pedOnl-pedRes 7S ADC-pedOnl-pedRes 7S ADC-pedOnl-pedRes



SMap 1 Mo

150

17161 p
T TI5075T
Mean 4695
RMS 571
X2 /ndf 132.1/111
Constant 3334+ 0.114
Slope -0.03592+ 0.00222

250
7S ADC-pedOnl-pedRes

[PSMap 10=17162, mMod=115, Stp=67]

17162 p

250
ZS ADC-pedOnl-pedRes

o
g
g . =z

100

17163 p

Constant
Slope

250
S ADC-pedOnl-pedRes

[GSmdp 10=17164, MOG=115, Strp=64

17164 p

07T
5.693

5.074

98.84/80

35451 0.135
-0.03619+ 0.00264

25
7S ADC-pedOnl-pedRes

65 17165 p [bsmdp id=17166, mod=115, strip=66 17166_p [bsmdp id=17167, mod=115, strip=67 ] 17167.p 17168_p
Entries 1350454 Entries 1350454 Entries. 1350454 Entries 1350454
Mean 4.702 T T Mean 5.881 T T Mean 5.303 T Mean 5.565
RMS 8155 o . RMS 7241 | . RMS 10.98 . RMS 6.672
XxZ /ndf 139.7/111 =': : X2 /ndf 162.5/106 : : 2 [ ndf 110.5 / 11( : 142.3/120
Constant 3.352% 0.121 . . Constant 3502+ 0.124 o . Constant 3.188+ 0.124 . Constant 3.401 0.128
Slope -0.03328 0.00212 . . Slope -0.03404: 0.00216 b . Slope -0.02918: 0.00202 . Slope -0.03001.+ 0.00192

7S ADC-pedOnl-pedRes

T7T69
EnTres TIS075T
Mean 5.787
RMS 12.73
X2 / ndf 156 /123
Constant 3111 0.127

-0.0251+ 0.0018

200 250
7S ADC-pedOnl-pedRes

17173 p
Entries 1350454
Ave shBt
X2 Indf 174194
Constant 3.245+ 0.118
Slope -0.03192+ 0.00225

7T
Ttres TI50757
Mean 4634
RMS 7.417
X? I ndf 190.2/149
Constant 2.968:+ 0.112
Slope -0.02501.+ 0.00157

7S ADC-pedOnl-pedRes

7S ADC-pedOnl-pedRes

a...

Entries
Mean 4.985

200 250
7S ADC-pedOnl-pedRes

Entries 1350454
Mean 5511
RMS 5836
X2 I ndf 149.2/93
Constant 36:0.1
Slope -0.03812+ 0.00244

200 250
ZS ADC-pedOni-pedRes

7S ADC-pedOnl-pedRes

e

7D
Entres TIS075T
Mean 485
RMS 5.067
X2 /ndf 93.33/92
Constant 3.500+ 0.122

-0.03817: 0.00248

200 250
S ADC-pedOnl-pedRes

Entries
Mean
RMS

X2 /ndf
Constant
Slope

200 750
7S ADC-pedOnl-pedRes

7S ADC-pedOnl-pedRes

17T [esmdp 1d=17179, mod=115, strip=79] 7179 p
Entries 350757 TEntries, 350757
™ Mean 5.765 Mean 4698
RMS 7.355 RMS 9.22.
X? I ndf 155.9/130 X2 /ndf 103.9/124
Constant 3153+ 0,126 Constant 3338+ 0128
Slope -0.02592+ 0.00173 Slope -0.0293+ 0.0019

7S ADC-pedOnl-pedRes

7S ADC-pedOnl-pedRes

'mod=1T TIp=72 I7177 ]

OT=1TS, ST ERTeS TIS075T
- ™ Mean 6.199
RMS 5.159
X2 Indf 1164191
Constant 3523+ 0,132
Slope __-0.03575: 0.00245

751

7S ADC-pedOnl-pedRes

Bsmdp 10=17176, mod=115, Stp=76 717

Entries 350454
Mean 5.829
RMS 6.857
X2 Indf 128.6/100
Constant 361+ 014
Slope -0.0338+ 00022

0 50 100 150

200 25
ZS ADC-pedOnl-pedRes

T780 5
Entries 350757
Mean 5.299
RMS 6.569
X2 I ndf 101.4/93
Constant 3475+ 0.117
Slope -0.03899:+ 0.00248

7S ADC-pedOnl-pedRes




~ Mo

17181 p
Mean 524
RMS 5.506
X2 I ndf 200.1/106
Constant 334% 0.12
Slope -0.03328+ 0.00219

150 200 250

7S ADC-pedOnl-pedRes

smadp | . MOl STTIp:

17182 p
Mean 5.625
RMS 4734
X2 I ndf 158.5/74
Constant 3772+ 0133
Slope -0.04205+ 0.00288

251
ZS ADC-pedOnl-pedRes

0 50 100 150

17183 p

Mean 5.143
RMS 5077
X? /ndf 125.6/86
Constant 3.47+013
Slope -0.03619+ 0.00251

25(
S ADC-pedOnl-pedRes

[GSmdp 10=17184, M0G=115, Strp=84

50 100 150

17184 p
T TI5075T
Mean 519
RMS 5293
X2 I ndf 120.3/108
Constant 3408+ 0.119
Slope -0.03477+ 0.00218

25
7S ADC-pedOnl-pedRes

T7TE9
EnTres TI5075T
™ Mean 4431
RMS 7.674
X2 / ndf 146.2/ 142
Constant 3.394 0.123
Slope -0.03028:+ 0.00180

150 200 250
7S ADC-pedOnl-pedRes

17193 p
Entries 1350454
Mean 4.957
RMS 6173
X2 /ndf 141.2/116
Constant 3291 0.118
Slope -0.03189+ 000202

150

200 750
ZS ADC-pedOnl-pedRes

7075
Entries 350758
™| Mean 4.409
RMS 7.431
X? /ndf 1495/119
Constant 3129+ 0.127
Slope -0.02632+ 0.00184

7S ADC-pedOnl-pedRes

, MO Strip

7S ADC-pedOnl-pedRes
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150

200 250
7S ADC-pedOnl-pedRes

Entries
Mean
RMS

X? I ndf
Constant
Slope

o
gl
g ...,

100 150

Mo

T7OT
Entres TIS0757
Mean 5.076
RMS 6.369
X2 /ndf 147.9/139
Constant 3.07+ 0.12

-0.02751+ 0.00173

200 250
S ADC-pedOnl-pedRes

200 25
ZS ADC-pedOni-pedRes

50 100 150

200 75
7S ADC-pedOnl-pedRes

85 17185 p [bsmdp id=17186, mod=115, strip=86 17186_p [bsmdp id=17187, mod=115, strip=87 ] 17187.p 17188 p
Entries 1350454 Entries 1350454 Entries. 1350454 Entries 1350454
T T ™| Mean 5.224 T T ™| Mean 5.194 T T ™| Mean 4773 T T ™| Mean 5.119
. . . | Rvs 6.302 . . . | rRvs 5.892 . . | rRus 6.44 . . . | Rvs 6728
H H o] x2 nat 88.1/96 H H o] X ndt 84.13/87 H H o] /naf 163.6/98 H H H it 134.2/132
. . | Constant 3568+ 0.133 . . + | Constant 3.384+ 0137 . . .+ | Constant 3.088+0.132 . . | Constant 3568+ 0.126
. . + | slope -0.03625+ 0.00241 . . + | slope -0.03139: 0.00239 . . + | stope -0.02687:+ 0.00213 . . + | slope -0.03359 0.00197

7S ADC-pedOnl-pedRes

™Mod=115, stnp=07] T2

od 5. St P Entries 1350452
T T Mean 5.423
RMS 6.587
X2 /ndf 121.7/111
Constant 328+ 0.12
0203

50 100 150 200 25(

7S ADC-pedOnl-pedRes

1719¢

Entries 1350454
Mean 5.316
RMS 6.838
X2 /ndf 108.6 /84
Constant 3.803% 0.145
Slope -0.03912+ 0.00268

50 100 150

200 250
ZS ADC-pedOnl-pedRes

bsmdp 1d=17198, mod=115, Strp=98 17198 p T7T50_p
Entries 1350457 Entries’ 1350457

™ Mean 4.381

RMS 9.346

X2 I ndf 154.6 /135

Constant 3.247+ 0.129 Constant 3.14+ 013

Slope -0.0285+ 0.0019 Slope -0.02536+ 0.00170

7S ADC-pedOnl-pedRes

7S ADC-pedOnl-pedRes

[bsmdp 1d=17200, mod=115, strip=100] T7200 5
Entries 1350454
T ™| Mean 4.16
RMS 5.927
X2 Indf 130.3/110

Constant 3.471 0.116
Slope -0.03646+ 0.00220

7S ADC-pedOnl-pedRes




Smdp 1 Mo 17201 p smadp | . MOl STTIp: 17202 p

17203 p Bsmadp 1d=17204, mod=115, Strp=104 17204_p
AU —

BT TSI
Mean 6.107 Mean 5.774

Mean 6.26 Mean 5.949

RMS 5.661 RMS 5781 RMS 7.008 RMS 7.085
X2/ ndf 92.31/96 X2 / ndf 97.46/90 X2 /ndf 207.8/93 X2 / ndf 99.79/101
Constant 3341 0.120 Constant 3576+ 0.129 Constant 3.194+ 0.132 Constant 3.161+ 0.126
Slope -0.03492:+ 0.00235 Slope -0.03705+ 0.00247 Slope -0.02892+ 0.00225 Slope -0.0291+ 0.0021

50 100 150 200 250 50 100 150 200 25 50 100 150 200 25( 0 50 100 150 200 250
7S ADC-pedOnl-pedRes 7S ADC-pedOnl-pedRes S ADC-pedOnl-pedRes 7S ADC-pedOnl-pedRes
17205 p [bsmdp id=17206, mod=115, strip=106] 17206 p [bsmdp id=17207, mod=115, strip=107] 17207 p 17208 p

Entries 1350454 Entries 1350454 Entries. 1350454 Entries 1350454
T T ™| Mean 5.593 T T T ™| Mean 5.844 T T ™| Mean 5.608 T T ™| Mean 6.045
. . . | Rvs 7.238 . . . . | rRvs 8.093 . . | rRus 1001 . . . | Rvs 10.88
H H o] x2 nat 95.16/99 . H H o] X ndt 1702/ 117 H H o] /naf 110.9/108 H H H it 147.5/143
. . | Constant 3.408+ 0.133 . . . + | Constant 3279+ 0.122 . . .+ | Constant 336+ 0.14 . . | Constant 3.006+ 0.125
. . + | slope -0.03279 0.00228 S F: . . + | slope -0.02984: 0.00194 . . + | stope -0.02897:+ 0.00203 . . + | slope -0.02406 0.00162

7S ADC-pedOnl-pedRes 25 ADC-pedOnl-pedRes 75 ADC-pedOnl-pedRes
mo| T7209_p Smap 1 Mo Strip: T7210 D [bsmdp 1d=1721T, mod=115, strip=11]] TrT D Mod=115, stnp=112] ppava)
ERTreS TIS0TST RIS TIS075T RS TIS075T ERTeS TIS07ST
- - ™1 Mean 7.054 E Mean 4.801 ] Mean 8.146 Mean

RMS 11.02 RMS 81 RMS 4.957
142.2/141 X2 Indt 114/110 X2 [ndt 154.1/99
0.13 Constant 3200+ 0.112 3.307+0.123
-0.02499: 0.00165 10° -0.03219+ 0.00200 -0.03291+ 0.00225

200 250
7S ADC-pedOnl-pedRes 7S ADC-pedOnl-pedRes S ADC-pedOnl-pedRes 7S ADC-pedOnl-pedRes

200 250

o
g

0 50 100 150 200 250 0 50 100 150 100 150 200 250

T7213 p Bsmdp 1d=17216, mod=115, Stip=116
Entries 1350454 Entries 1350454 Entries Entries 1350454
Mean - Mean 7. Mean Mean 6.625
RMS b RMS ¥ RMS RMS 5559
X2 Indf 129.1/118 X? I ndf 151.3/91 X? I ndf X2 Indf 123.1/93
Constant 3.259+ 0.118 Constant 3.648+ 0.134 Constant Constant 3.555+ 0.134
Slope ___-0.03159: 0.00201 Slope 003752t 0.00249 Slope ___-0.02846: 0.00190 Slope ___-0.03493: 0.00238

0 50 100 150

200 25
ZS ADC-pedOnl-pedRes

200 25
ZS ADC-pedOni-pedRes

200 250
ZS ADC-pedOnl-pedRes

275 T 72205

Entries 350757 Entries 350757 Entries 350757 Entries 350757

™| Mean 6.617 ™[ Mean 6387 F T ™[ Mean 653 ™| Mean 5.534
RMS 6.64 RMS 6.913 RMS 8.454 RMS 7.558

X? /ndf 165.1/114 X? I ndf 117.4/105 X? Indf 130.3/115 X? I ndf 129/96
Constant 3272 0.13 Constant 3261+ 0134 Constant 323: 013 Constant 3405+ 0.120
Slope -0.02889+ 0.00196 Slope -0.0284¢ 0.0021 Slope -0.02787+ 0.00192 Slope -0.03613+ 0.00237

7S ADC-pedOnl-pedRes 7S ADC-pedOnl-pedRes 7S ADC-pedOnl-pedRes 7S ADC-pedOnl-pedRes



BSmap 1d=17222, mod=115, strp=127]

17221 p
T TI50757T
Mean 7.449
RMS 4.891
X2 /ndf 94.13/74
Constant 325+ 0.13
Slope -0.03115+ 000268

250
7S ADC-pedOnl-pedRes

17222 p
Mean 6539
RMS 4619
X2 I ndf 96.38/84
Constant 3762+ 0.133
Slope -0.04082: 0.00268

o) 200 250

1
0

g

17223 p

Mean 6918
RMS 5235
X? /ndf 103.9/96
Constant 3615+ 0.123
Slope -0.03832: 0.00240

150 200 250

S ADC-pedOnl-pedRes

GSmdp 10=17224, M0G=115, Strp=124

50 00 150

17224 p
T TI5075T
Mean 6.064
RMS 4.923
X2 I ndf 126.3/110
Constant 3596+ 0.122
Slope -0.03777+ 0.00226

750
7S ADC-pedOnl-pedRes

7S ADC-pedOnl-pedRes

EnTres TIS075T
Me:

200 250
7S ADC-pedOnl-pedRes

7S ADC-pedOnl-pedRes

Entries 350757
Me:

an 4561

150 200 250

7S ADC-pedOnl-pedRes

17233 p
Entries 1350450
Mean 8.004
RMS 4412
X? I ndf 113.4/89
Constant 3.602:+ 0.127
Slope -0.03959+ 0.00258

200 75
ZS ADC-pedOnl-pedRes

Bsmdp 1d=17231, mod=115, strip=13]] 17231 p
EnTTeS TI5075T
T Mean 8.941
RMS 4616
x? /ndf 107/78
3583+ 0.134
-0.03931+ 0.00281

250

Entries 1350454
Mean 6.968
RMS 4177
X2 I ndf 102.7/82
Constant 3598+ 0.130
Slope -0.03774 0.00261

200 25
ZS ADC-pedOni-pedRes

Entries 1350454
Mean 7.395
RMS 4893
X2 Indf 92.72/81
Constant 3.554+ 0.133
Slope -0.03621+ 0.00260

7375
Entries 350257
Mean 6.683
RMS 5.768
X2 /ndf 1225/90

Constant
Slope

3.411 0.135
lop -0.03298+ 0.00240

7S ADC-pedOnl-pedRes

72350 7239
Entries 350757 Entries 350757
™[ Mean 5923 ™[ Mean 6364
RMS 5266 RMS 6815
X? I ndf 154.1/92 X? Indf 109.2/109
Constant 3413 0,128 Constant 3379+ 0,119
Slope -0.03408+ 0.00238 Slope -0.03201+ 0.00204

7S ADC-pedOnl-pedRes

7S ADC-pedOnl-pedRes

17225 p [bsmdp id=17226, mod=115, strip=126] 17226 p [bsmdp id=17227, mod=115, strip=127] 17227 p 17228 p
Entries 1350454 Entries 1350454 Entries. 1350454 Entries 1350454
T T ™| Mean T T ™| Mean 5.68! T T ™| Mean 5.983 o T T ™| Mean 5.374
. . . | Rvs 5935 . . . | rRvs 5876 . . | rRus 7.053 Fe . . . | Rvs 7.099
H H o] x2 nat 103.4/96 H H o] X ndt 1175/ 106 H H v | rnaf 100.1/90 . H H H it 143.9/118
. . | Constant 3632+ 0.128 . . + | Constant 3395+ 0.128 . . .+ | Constant 3,503+ 0.143 N . . | Constant 3.385+ 0.126
. . + | slope -0.0387+ 0.0025 . . + | slope -0.03226: 0.00215 . . + | stope -0.03227+ 0.00238 . . . + | slope -0.03184 0.00203

7S ADC-pedOnl-pedRes

T6d=TT5, Sip=T37) ey
s TS
Mean 7.902
RMS 99
X2 /ndf 157.8/81
Constant 3.946+ 0.133

-0.0455+ 0.0028

200 250
7S ADC-pedOnl-pedRes

1723
Entries 1350454
Mean 6.522
RMS 5.126
X2 / ndf 159.5/ 106
Constant 3.4481 0.126

Slope

200 250
ZS ADC-pedOnl-pedRes

72205
Entries 350857
™| Mean 4.946
RMS 5.899
X? I ndf 1122/92

Constant
S

3577+ 0.116
ope -0.04251+ 0.00261

7S ADC-pedOnl-pedRes




~ Mo

17241 p
T TI5075T
Mean 1115
RMS 4.464
X2 I ndf 140.2/84
Constant 3718+ 0.146
Slope -0.03921+ 0.00275

25
7S ADC-pedOnl-pedRes

SMap 1 - Mo

TP

17242 p
e TIS07ST
Mean 9374
RMS 4416
X2 I ndf 102.7/92
Constant 3605+ 0.129
Slope -0.03668+ 0.00242

250
ZS ADC-pedOnl-pedRes

g
g ...

100

17243 p

EnTTE TIS0TST
Mean 9364
RMS 4.423
X? /ndf 111.3/108
Constant 3.471£ 0125
Slope -0.03499+ 0.00221

250
S ADC-pedOnl-pedRes

[GSmdp 10=17244, M0G=115, Strip=.

0 50 00

17244 p
T TI5075T
Mean 7.746
RMS 4.635
X2 I ndf 129.4/108
Constant 3346+ 0.129

-0.03079:+ 0.00208

Slope

250
7S ADC-pedOnl-pedRes

bsmd 17245 p [bsmdp 1d=17246, mod=115, strip=146] 17246 p [bsmdp id=17247, mod=115, strip=147] 17247 p bsmd 17248 p
Entries 1350454 Entries 1350454 Entries. 1350454 Entries 1350454
Mean 7.795 T Mean 6.56 T ™| Mean 6,574 T T ™| Mean 5.534
RMS 4634 . RMS 4.385 . | rRus 5.778 . . . | Rvs 5389
X2 /ndf 131.3/86 : X2 /ne 90.37 / 8¢ : : 2 [ ndf 1916/ 1 : : : ndf 130/136
Constant 3302+ 0.133 . Constant 3.845+ 0.140 . .+ | Constant 3579+ 0.133 . . | Constant 355+ 0.12
Slope -0.03092 0.00240 . Slope -0.04073: 0.00263 . + | stope -0.03463: 0.00227 | . . + | slope -0.03345 0.00188

7S ADC-pedOnl-pedRes

g

150

T7729 5
EnTres TIS075T
Mean 5.92
RMS 6.39
X2 / ndf 70.79/99
Constant 3.4031 0.136
Slope -0.03034: 0.00217

200 25(
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Smap 1 . Mo
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Mean 4291
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